1888 .. ... add SD,SD,—32 struct dice {
1884 .0 su zero, 12(sp) S int r;
1888 w0 sw zero, 16(sp) ) int idx;
1812 ez SW zero, 20(sp) int datal3dl;
1016 weixs SW zero, 24(sp)
1828 w02 SW zero, 28(sp)
18294 o we: 11 @5,

1828 w22 sw ab,12(sp)

1832 ooz lw a5,16(sp)

1836 w2 lw ad,12(sp)

18408 ... 51l a5, a5, 2

1844 ... add a5, a5, 32

1848 ..o @add a5, a5, sp

1852 ... sw ad,-12(a5h)
1856 o2 lw a5, 16(0(sp)

1860 ...« add a5, a5, 1

1864 w1200 sw a5, 16(sp)

1868 w2 lw a4, 16(sp)

1072 wwwms 11 @5,3

1876 ... bne a4,a5,1884 # +8
1888 woinx sw zero, 16(sp)
1884 w0 lw ad,12(sp)

1888 wwwss 11 @5,6

1892 .. -... bne ad,a5, 1824 # -68
1896 wwws 11 @5,0

1188 wwec mv ad, ab

1184 .60 @add sp,sp, 32

1188 wwwes ret

1112 060,000

1116 40600000

11208 o 000000

1124 2 50.00.00

1128 060,000

1132 40.60.60.00

1136 w0000,

1148 00,0000

11494 4 0.00.00

1148 60,0000

1152 o0,00,00,00

1156 40.60.00.00

1168 0 60.00.0

1164 60,0000

1168 o o0 00.00

1172 40.60.00.00

};

. int mainCvoid) {

struct dice rolls = {8};

do {

rolls.r = [

rolls.datalrolls.idx] = rolls.

rolls.idx++;
if (rolls.idx == 3) {
rolls.idx = 8;
}
} while(rolls.r != B6);

return @;
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